By A ]

P ERA
(BGR T 5 —— ST T T B B L )
L N R U
JLf5S PR3 © 700 I 20135 45| 5 fI
YLE IR 7 o= 7Y BRI (T BT s R ( (PR ) STAB.25A R g » 4 TS A

11T B Y (74 210.06(4) @) A/ e YA S

RS R

I,
“[éﬁquglﬂl | ( I _

o o = ({ED) = R L eﬁﬁ ﬁiﬂ fififr~
B - % %aq&mﬁmmpu i !
ey (il ~ E L fE puﬁ&ﬂﬂ ff! = E) ﬁ@(pn )
SV = =
G672 7) AT e pf G i

T S TR B R s v

(:2) 2013 A F 3 1,852,988,686

(ﬁ_ 3)

#2013 % 4 7] 5 [ VIR EE [T 650,000 0.035%

I ]S T R oA

(ﬁ%t 8)2013 % 4 F[ 5! 1,852,988,686




A s

LG

L 2 IR0 TG I FE I S T S

2. ﬂ%ffﬁf?‘ﬂz%‘: ((J_ﬁ/g/ﬂ//)) AT13.25A T[T F— [ T 1t /gﬁrﬁ{,%ef ((#Fﬁ/i/ﬂ//)) 2F13.25B [T F— [ T EER () EH ) OB f I
Sl e A T e L e A e e e g e e At ey T Y Ul
7o IRy o F R T ) R A R [ TR F Ry T P Ty B I B R A

4. BT I I RBEYIIE 1SS AR Ly T g S = G A AT (L T T S R R I A A
D) - A LRI ERLL [ By AR PR [ -

5. Ry/E IRt iy S Rl e S e T Y e N S e S SRR e /Y

6. YLy -
= TESRE EEEET EpEE R
~ TG P AR R Ey T PR EEEIPERT S R  [E  TEC Ap R Fy A TR FrATE

7. e
AR EEEET TR
TR IRy T LTS RS R [ S LR Ry R LS
n fgﬁ&éﬁﬁﬁj 7:5/%/5725'?? FQ?%T[(///E]J °

8.

Fopssadi i | LA e~ %ﬂ%%f’/ﬁ/ﬁlﬁﬂ‘# 17 -



P A ]

A RS
e [T 55 B ! e S S [ et

R I

o (i wm&m@%ﬁa (84) (47

2013 4F:
47 5H 650,000 L pART 241.00 238.40 155,549,030

Fift 650,000 155,549,030
B. PYEI pARrEL e~ o Bopugt = b pul foevp]
1. B AR (PR T PR IR 5 OB (2) 3,693,300
2. FITRFERORPE E AT T 1 BLATRE[RIANRE ST () R R = AR A P 5T B 0.20%
(3,693,300 x 100)
1,843,092,733

J‘Sff‘ﬂﬁrﬁ“ HPA% FThE ] e BARE 5 PR [URUANES (D U&=t B bR 15,2012 37 J30E‘BJ$‘:F'FFHI¢W@&W#P AR
p e 2y PR o T AR P R ELF’?LI—IEJEE%?F?E*J D kBl L 0 Bl S B e L e

W R < AP & JITr ~ fd F@ 55 C BATr (TP & pLFrE70) » I E LY T ) 2 P ) 7

HYH o ZIRE

~

1% t)

T R
(B~ T B PR £




